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Dividing Fractions

Keep, Change, Flip!
1. Keep the first fraction. i
2. Change the sign to multiplication. d
3. Flip the second fraction into its reciprocal. %
. numerator x humerator l;
4. Multiply the problem through = Ry S i]
5. Simplify. (Use the ladder method if you're stuck!) i

2 3
i Example: = ==
8 4

1. Keep %
2. Change = to x
. 3, 4
3. FlIP " to 3
4. Multiply Zx = = 2

5. Simplify 28—4 =1

1 / 3 —> simplified fraction
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Urt for maklng fruit
Quires + g cup of

fa l“S‘t:[ﬂ e mane!

13. Jackson wants to diuide a 2-pound box of

trail mii n[u small bags. Eag[mfm Dags

will hold =& o pound oftrall mix. How many

yogurt, How many par

e — 3
£ Lor 215 ? s - e °” il
2 /] LG
Cr= 9. Ateamof runners is needed ta run a —-mlle .C)___'S J
C relay race. If each runner must run iﬁ mnle, 14 ‘A pitcher of cnntamssquan‘. af!emcmade.
1 : 7 G[(’ how many runners will be nesded? IFar tof lemgpade Is
—~ poured into each iho
L _—’J; lemonacde will each g

f’f /‘rVE
gro

‘N 10. Trevor paints < of the fence surrounding his _:’__;_‘_ f _ o <
P farm each dau How many days will it take S 7 @ ~ S‘ 1 3
!_\:‘._. him to paint 3 of the fence? 15. How many tenths are there in g? ] Zq‘_ ?
A ’
"D‘ X\ I
il |
@ paund of peanuts . T6. You make a large bowl of salad to share |

g‘m What frac'lr:un of a pound of

with your friends. Your brother eats 1 of it
pganuts does each person receive?
[ 3

before they come over.

= S\ ”’_ ? a. You want ta divide the leftover salad i

= |
evenly among six friends. What f

Biology If one honeybee makes 5 expression dascribes the situation? |

teaspoon of honey during its lifetime, how Explain.

many honeybees are needed to make =

teaspoon of honey?

12,

What fractional portion of the original |
bowl of salad does each friend receive?




R

\ N - ;
Ly —W -
.. ‘\,L \
L\
— ) N
{ \’Aq A
w i ”.

e
A

e

——



- =

H,n

1
1_2

(&)

it

1_8

i
=

Ay
<]




